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Disclaimer: These answers are intended to guide you in looking for the right approach and answer. In exam, you need to elaborate and use diagrams as far as possible for this part of the course, which primarily draws from the IS-LM framework. These answers, are, in no way meant to be comprehensive.

2.  True/False/or Uncertain.  Briefly explain your answer.

a. There was no liquidity trap during the Great Depression because the estimated

            money demand function using Great Depression data predicted money demand

            function of the 1970s.

TRUE: Brunner and Meltzer’s finding that a money demand function estimated using data mostly from the 1930s predicted the demand for money well in the postwar period not only suggests that the liquidity trap did not exist in the 1930s but also indicates that the money demand function has been stable over long periods of time.

b. Velocity of money has been fairly constant in the U.S. since 1970s.

FALSE: Look at figure 1, page 542 of chapter 21 of Mishkin. There was a substantial drop of the velocity of money during early 80s and 90s due to recession.

c. Increasing volatility in bond and stock returns raises demand for money.

TRUE. Follows from Friedman’s theory of demand for money.

d. During periods of slowdown, businesses decrease their inventories.

FALSE. According to the Keynesian cross diagram, AE<Y, and businesses cut their inventories.

e. Output falls if an increase in government spending is matched by an equal increase in taxes.

FALSE: This is a direct result of the balanced budget multiplier, which is equal to one.

f. If consumption, investment and net exports are insensitive to interest rates, the IS curve is horizontal.

FALSE. If consumption, investment and net exports are interest-insensitive, the IS curve is vertical.

g. An excess demand for money resulting from a rise in the demand for money can

      be eliminated only by a rise in interest rates.

FALSE. The excess demand can be eliminated by a fall in output.

h. As the price level rises, the equilibrium level of output determined in the IS-LM

      model rises. 

FALSE. As price level rises, real money supply falls, the LM curve shifts to the left, which leads to a rise in interest rate. Investment and consumption fall and output falls due to the Keynesian multiplier effect.

i. If the money demand curve is shifting to the left, the LM curve is shifting to the

            right.

FALSE. The LM curve will shift to the left. Draw a diagram, for example, with falling GDP.

j. A stock market crash leads to the shift of the IS curve to the left.

TRUE. If consumption is assumed to be a function of an individual’s wealth, a drop in the stock market will have a dampening effect on consumption and output is going to fall due to the multiplier effect.  

3.  Essay Questions

1. Discuss using the IS-LM framework, how President Bush’s tax cuts and 

      Greenspan’s expansionary monetary policy may steer the economy out of

      Recession.

President Bush’s tax cuts are going to stimulate the economy by increasing disposable income, consumption, investment and GDP through the Keynesian multiplier effect. Greenspan’s expansionary monetary policy will lower interest rates, which, in turn, are going to increase consumption, investment and GDP through the multiplier effect.

Please draw diagrams and discuss the long run effects too. 

2. Discuss using the IS-LM framework, why monetary policy may be ineffective in

      stimulating the Japanese economy. Do you think that the Japanese can export 

      their way out of recession? 

Monetary policy will be ineffective because Japan’s interest rates are already very low. Some economists claim that Japan is in the liquidity trap region. Fiscal stimulus or higher exports may be the way to go. Draw IS-LM diagrams in each case and explain.

3. Discuss the following statement.

“If a policy-maker has credible prior information that the money demand function is of the classical Fisher-Pigou form, she will avoid fiscal policy to stimulate the economy”.

       If the money demand function is of the classical Fisher-Pigou form, money demand  

       Is insensitive to interest rates and the LM curve will be vertical. In that case, fiscal 

       Policy in the form of increasing government spending or cut in taxes will lead to 

       Complete crowding out. Explain using diagrams from page 600, figure 7.  

4. Discuss the following statement

“ The most likely cause of the instability of the money demand function after 1973 is the rapid pace of financial innovation occurring after 1973”.

        First of all, you will have to discuss the empirical evidence in support of instability 

        of the money demand function since mid 70s and the potential problems associated

        with this phenomenon (pages 556-561). Financial innovations like overnight REPOS 

        should be included in money supply to get an accurate and true estimate of money 

        demand and supply. 

